
���������������	�
���
������������������������������ �!"���#������$� %&&��

��

�

����

�����-B��:�V����'�.��7����E"�F��+�(KA��*��Y�I�<���������C]��6�V]���V7$�'�.��
����!
�:�)�

������M��3�!A�)�� �

��.��)�*��)�I '�SE3�Q(��I���U�<B��!��B�!
���%� �
���=!�02	�)��'	>#�8�	�	�-
��	39!0�	]�0��	�	�������	3*!z�	d�8/���	�	F7�8�	�	
����
�	���
���	��#��=!�		>

	�9�)U�������=!�02		���
�	�	!0�	]�0��	�	�������	3*!z�	���=!�02	�)��'	>#�8�	�	�-
��	39�		�����	(!�B�!
	4�2	�	%���=!�02	�)��'	>#�8�	�	�-
��	39!0�	]�0��	�	�������	3*!z�	;		

�

��-����

																				��<��5)�	�P056��	
��6-/	37	4�2	��	�	��07	��A��:	$/�	
��7	
���b	�#�&O	���8M	��	�-#	��08M	37	"�!�=B			(5�)p�	
				����	�0'�	���.=2�!	�	�$/+��E	;,��													5�	��	��58�.U�	(5�'	
����
5�	
����2	
��^6��K	(�9b�		4r		"�5!�=B	���

			�	���:	����	��0�	
���					��	�N�	37	
���b		$!�	;																
��57	J5!�8�	
��5/��	���5�	�$5�B	
��57	�#��/ �	���2�	
��<�!	��
																		��	357	��05=��	36.'	��	3�	�$��	@.97	�#�-��	
������	
��K	
����2	��	3!�=B	�0�	37	���:	����	�7�#���		��	����=5!�	]

						�	"�*6�	L0.`�	�7	"�!�=B	�<��9�	n7���			���	���/�	"#��8�+F,	;	(���K	��		%&'	�����		�#�										�57	"5A	��	���:	36�!07	�0#	
																											�589#	(5N6O	�=5/��	35��	(57�c	
��7	4�2	�#���0�	�7	"A	�	�$/	�89#	n���	��	��	�0'0�	��$��	�c�	�=?�:	�N�	��

		$8`8!	��	(�?�|+�,	;				x�9b	��=*).A	@�<$7			"�!�=B	��7	
��:	���$��										37	���:	@.9<�	Q-M	�	_0��0��	��=!�	�7	�$/	
			3!�=B	
�A�0���				����2	�#�	+�	,																��	"�5!�=B	Q)5K	�	�#�-��	
������	��	"�!�=B	���1=2�	>b�0�	�0'�	��	�/��	3�

	>b�0�	�#��(!���0=��	��	
�`7		
�A	�8�8�	]��	��	�$/	37	(�.�	+� 
PGI"�!�=B	J5!�8�	]��	3�		
�5�		5�'		(

						(!�	3!�=B	�0�	37	���:	����	�7�#���		���	����=!�	�	+�,	;7						�5A	�8�8�	�#�	��	����=!�	��											@57�Y	���5!�	357	"�5!�=B	��05=��	
						P��9�	P�K	��	"�!�=B	(�<�9?	()*�	�P��)�+ !	,�								4�52	"�!�=B	�0�<�7	
�?�7	(�?�|	�	P��)�	@7�Y	�=^!	37	"�!�=B	

+�.�1	,		����	(!$7	��+D	;,		�0�<�7	
�?�7	(�?�|														
��$5���	�	��K	��	4�2	�#���0�	�	��$Y	��	�
`8!	4�2	"�!�=B	
�	
��7	4�2	�#���0�	�$/�7	�=
�7	3k	�A	3�	(!�	4�2	��	"�!�=B	�$/r(!�	�=
�7	����=!�	@7�Y	"�!�=B	���+D,;		

																							�	�-
5��	(
5�	(5��	
����2	��	
��$9�	��	"�!�=B	�$/	37	(�.�	
���8�8�	���9�	�	�!��7	�u����	�#�	��	S$A
�9��	��	4�2	�#���0�	��r$/�7	��	���:	�.�!�=B	����	���;		
�

�.B()�(��������

��$9�	��)�����	(98��	(
�	��	�-
��	(
�	L����	��	�39<�H�	�#�	_�`��	�0N8�	37	�E	u.M	��	4�2	3�0.�XfWf	�=��!
				u.M	3�	
�=�P�9?							$/	
����7	3�0.�	�(!�	�-
��	���:	3
#�		;			��	QB	�A	3�0.�			�	
�05A	��	�$/	G
2		��	G5<�	��	����

																$5/	_�`��	����	
��	�7	�#��.�/	�	�-#��?	P0.9�	
��
#����	�	$�$/	����	�0)M	
�=�	�6��;			�$5=7�	��		FD					�5=�<	�56��	
		P06��ffF[f												J5����	357	����	��	"�!�=B	(N6O	3�	"�*6�	�i0�f		��[f		�F[f			�	E[f	�V[f�	E[��	E[F�F[�				�i05�	�56��

								�	��	4�2	���:	��	
�A	3�0.�	37	��07							�$�	37	�	3?�b�	���-�	�F				$�$/	����	��-�	���
#����	
���	��	(M�!		;		�57	Q}!
		0�#�=��!	��	����=!�						C	��		�fff							�$�	37	3��Y�	��	���	D	�3��Y�							$�$/	
���	>.'	_�i	
�A	���1M	;						(#�$5A	��	��	Q5B

		�5-#�=-<�+&�,		P$55�	v855!	
�05/	���=55!�	��	����=55!�	�557	>@>�		]��	�557	"�*556�	�	"#�5�8�	(55N6O	�0�55!��=��	
	�7	
�=�0*-6}.�&)@ 												$/	
��:	���$��	�=�0=?	"�6?	���=!�	�7	�A	���1M	"�!�=B	(N6O	�		;			�<��5)�	"�5!�=B	��	���T�

											$��	(!$7	�<��9�	P06��	�	3�<��	P06��	��	"�!�=B	(N6O	�����	��	;						�"�5!�=B	(5�<�9?	()*�	3)!���	
��7				�$5=7�	&�	
							����	��0#	��$Y	Q}!	�	
��:	���$��	��<06��			��				�7�`�	P0��?&�f��[fI'		$/	3)!���	�						�05#	(�<�9?	J#��b	Q}!	

															$#��:	3)!���	��	(�<�9?	�	�0#	(N6O	��	(�<�9?	J#�b	����	%�b	��	�	3)!���	Q#0#�	3<��9�	��	����=!�	�7;		"!�	�7



���������������	�
���
������������������������������ �!"���#������$� %&&��

��

�

����

																					4�52	�5A	�$/	37	(�.�	
�A�=����B	"�!�=B	(�<�9?	()*�	@7���	��	�$/	����	�#	%&'	"�!�=B	��$��	�8�8�		��5�9�
$#��:;		

�

'�������<6�(�97:			
																				��	(!�	4�2	��	"�!�=B	�$/	S�9�	3�	P��9�	P�K	��	"�!�=B	(�<�9?	()*�	�!��7	�#�	��VffV[�			�5�EgVX[F				�57		

�������� 
����G����EDV[F�07	��T=�		;	��$��"�!�=B	�0�<�7	
�?�7	(�?�|			��	����2	�fFF[f			��	F�F\[f	�	�07	��T=�
	��	�������
��KG�		6��� G� 
����G���	FfgD[f$/			;	P�$'	v#�=��				��5�7	x56=^�	
��<�5!	�0'�	�7	3�	$A�	��	��
�	

						3<��9�	J�/	�	J#��b	
����7�8�8�		
��PGI			���$�	���$8k	�����T�		;(6M			�#�									"�!�=B	��#�	���2{	37	(!�	�-.�	���	
				�0/	q07��	3�H8�	�#�	
����2	;				�!�8/	����	v#�=�			��
�	�0�&�	3�H8�	
����2									��	(�6#�	���:	
�A	d�	3�	$A�	��	

	�<�0=�	
�A	(
�	�0'�	�7	3�	$/�7	��	��#�	@�<�	�#�	37	����2	�#�	"�!�=B	���2{	�	��07	J<�O	4�2	d�	
������	��7
(!�	��0.8�	��`#�	����2	��	�012	�#�	��	��	��'0�	@7�Y	�����T�	"�!�=B	��#�	S�1�	�7	�-
��;		

�=(-3 �\��:�g�:���@���A�(��"��E��'���!�7��KA�`
<a��V]����:�I��:�'�.��
�'��:�T��

3M���	$��
	(�$Y

(
�+P�!,		
3<��9�	�PGI�

J�/n2			
�.�
��KG�		6���
G�
����G����

�;	�

��KG�		6���

 !	�

����G����

����� ��		 �����	
�
�����	�


�� �	
�
�� ��	


�� 
	�����

������� �� �����	
�
������	��
� �	
�
�� ��	��
�� 
	
��
�

������ �� �����	


������	�
��� �	


�� ��	�
��� 
	�
���

�����
� 
� �����	��
������	�
��� �	��
�� ��	�
��� 
	

���

������ ��� �����	

�������	
��� �	

��� ��	
���� 
	
��
�

������ �� �����	

�������	
�
�� �	

��� ��	
�
�� 
	�
���

���� 
� �����	���������	
���� �	����� ��	
���� 
	
����


���� ��� �����	���������	����� �	����� ��	����� 
	�
�
�

�
��
�� �� �����	��

�����	
�
�� �	��

� ��	
�
�� 
	��
��

����� ��� �����	
��
�����	

��� �	
�

� ��	

��� 
	�����

�
����� �� �����	

�������	����� �	

��� ��	����� 
	
����

������� 
� �����	���
�����	����� �	���
� ��	����� 
	�����

����
�� �� �����	
��������	����� �	
���� ��	����� �	�����

���
� ��� �����	
�
������	�
�
� �	
�
�� ��	�
��� �	�����

� �

J:���\� �
�,�	L	����=*7	;��V�	;														��=!�02	�-
��	(
�	�#�	
����2	��	"�!�=B	(�)p�	�	%&'	(�67�Y	�7	�.�!�=B	�0�	��c��	;						�5!�8/���	35���	��5#�B

��	�!�8
��2	���:	�$/�������	������	���
���	
����
�	�$-
�;�
��� .��;��/� ��-�@��3�+����2"���� �
� ����� �������2��II5@7�� I���"����� PGI� �������
� � ��� ��=���� �������2�� �
� �7��

�����4������������5�3�����
��� �<�

�
6/�)���� /� 0�L��1����
"��/� �
"�%� �&��)��;�:��33��%�������� ������+�I
5�)���
� 4�.��
"� ��.�� �>��"	

%�
�������
�������
9���
��
�������
"��"����
������������ �������%�"���
�>I��
+�� %����
/�>�-��
"� )�8�����;���3����E
� �7�� =�7�9���� ��� 
�� ���7�
6��=��� �������2�� �
� ����������
� ����� �����

���
�� 
�����5��(������
��� ����;�/�)�8���
"�>����8��=7�"���3����&�����������
6������������
"��������2������������
��
�K2�
���:�I
��
���:�

�������
�7�����
���
":���������������������� ��4�+�5(���(3	��
�
�

��

��

��


